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(5) sE=gt
RCTF=ES A moll= ch3oll MAIE sHEAISSt sHE =g
S 2F 125t sl 2Eske 2o ATl CHl
DIESIEE M7IsHof sict,

(ArBstE AEA| ks = 1.0)

7D 1430%-skE + 1.7 2ol5 + 1.8 ER

L) 0.756 14 DHSES + 1.7 k5 + 1.8 ER + 1.7 Z3k8)
ch 0.75 (1.4 n&sks + 1.7 &st5 + 1.8 X|XIsHs)
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S ERMAEEN A NESR 2001)0lME =Lst ARRIEX]|
HholM 2] SBX|X|2 gas 30.0 tonf/m?(&A]), 45.0 tonf/m?
XITADZ MAlst U20] S8 7|EHo|| ZkSsh= 22 0]

2k O[57t =(ofof Bt

(E 1) 91 34 15

o | SRV | EEH ZZo| V- x H-y

= (ton) (tonf) xm | ym | (tonf-m) | (tonf-m)
232 E 6.069 0334 1485 0934 9.014 0312
E 4303 0.237 1269 11 5.460 0.263
A 10.372 0570 1396 1.007 14.474 0575
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SIEolM ARRSh= wheEe XS N = 0.0371 tonf/molct.

1-sin @ 1-sin 30°
Kah = Ka = = = 0.3333
1+sin 9 1+sin 30°
Pa= & Kany H= 5 0.3333x19x2.06
= 1.344 tonf/m
@ SHHAEA|(Coulomb EQH
_ cos’(2-0-B) 3
Ko = = 03164

cost - cos@+9) -

1+ [.sin@+9) -sin(ﬂ-a)}
cos(@+9) - cos@-a)
Keh = Ka - COS(€+B)

= 0.3164xcos(1.15" +10") = 0.3104
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Pah =4 - Ken -7 H =14 0.3104x1.9x1.56°
= 0.718 tonf/m (24| sl=t HE)

Pah =4 - Ken -7 H =14 0.3104x1.9x0.31?
= 0.028 tonf/m (x| 52 HE)

Pah =4 - Ken -7 H =14 0.3104x1.9x2.06°
= 1.251 tonf/m (7| HE)
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Ko = cos’ (9-6H)

cos’f - cos’B - cos@+0+p) -

1+«/ Sn0+9) - sin(0-e) |
cos(B+0+6) - cos(5)
= 0.3667

Kah = Ka - cos(8+9)
= 0.3667xcos 0" = 0.3667

Kh -1
od7IM, 6 = { HJ

Ko @ TEXITARE, K @ FRXEA S

0 : Fo| uRofEt

P. =K -7 H=1x0.3667%1.9%2.06
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@ SHHAEA|(Mononobe-Okabe2| 2JAFH A sAIH)

cos’(B-0-B)

Ka =
cosf - coB - cos@+0+8) - |1+ /sin(czi +0) - sin(9-af)
N cos@+0+6) - cos(Ba)
= 0.3744
Kah= K. - cos(8+9) = 0.3744xcos (1.15° +0°)
= 0.3744

Pare = 3 Kuno - 7 - H'=} x0.3744%1.9%1.56°
= 0.866 tonf/m (84| slct AE)

Pae = 3 Kare - 7 - H'= 4 X0.3744%1.9%0.31°
= 0.034 tonf/m (8x| S AE)

Pae= 4 Kare - 7 - H'= "} X0.3744%1.9%2.06°
= 1509 tonf/m (|= HE)

(4) rEHE

e SxE Y | fEEH zH2o| V- x H-y
= (torf) ton) | xm | y(m) | tonf-m) | (onf m)
232|E 6.069 1485 9,014
= 4303 1269 5.460
qisH 0.037 1.750 0.065
B2 1344 0.687 0.923
5= 0.691 0893 2234 1.030 1543 0919
=5 0.366 3.280 1200
A 11.100 2602 1449 1169 16.082 3043
7h) HAE e
_B_3V--SH-y_25_ 3043 _
e=52""5v 2 " 11100 0.075m
e<B - 0417m ~.OK
Lh = Ze
= 2Vop _ 11100 x0.364 _ .
Fs ==V - 111005 =155) 15 ..OK

Ch T AE
= 2V-x _16082 —_ 59 20 -0
FSTSHy T2e2 202 )
2h) X[X[H HE
Qo = 2V X x[146-€ )= x [146%0.075
L-B B 25 25

= 5.242 tonf/nt, 3.638 tonf/ni -.0K

grex = 5.242 tonf/ni { ga = 30.0 tonf/ni 0K
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Clezt 2ot

(% 3) ATH 20| AHUE AW

= A SN s
g5 155 ) 15 706 ) 12 OK
M= 529 ) 20 e=016m ( B3=08338m OK
XK q = 5.242 tonf/m* g = 6.000 tonf/m* oK
{ ga = 30.0 tonf/m* { 0a =450 tonf/m*
(5) ArEstsoll 2fst tHHE
=Z0l|M= Chg sEEEol| CHst AlMet LIERHES Sict
SIEZE : TNl + HolE + EY + ZolE
[a3 5] & ZE

(& 4) 84 oftt ZE(HH A-A)

(% 5) # 5% HE(HH B-B')

= |Htonf) | y(m) | H-y (onf-m) = [Honf) | y(m) | H-y (onf-m)

EQf | 0718 | 0520 0373 EQF 1 0.028 | 0103 0.003
2615 | 0629 | 0.780 0.491 2615 | 0125 | 0155 0.019
2515 | 0.366 | 2780 1.017 2515 | 0.366 | 1530 0.560

A | 1713 | 1.098 1882 A4 | 0519 | 1121 0.582
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-1.05%(0.118x0.100 +1.969x0.750 +0.419x0.150+ PR R, L= D Bt af SHE MEsloiT TxHEZD NSRS Eelsiict
£ h i = | O 1 - AF a
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V= % X (4.032 +4.304) x 0.50}-1.00 x(0.625+1.482 p= EE = 68 pe Akl QNLNT e 01K
~1.05%(0.013+1.625+0.133+0.009+2.280) L= [iret + e 1717 e
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